T29F58 148 8T SHITHERZE —ESE HERKE

&RA FErk2955R8780

®EAR FRi294E5H 148

E# 20

A g 21

EXEH EEET

8T B Fri294E5H 288

LAEFEEY SREH RER
35,897 21,257 59.22%

s | EE MR | wReaRE | BEE | EB [Tn B
£ R —Xk 5 NEAR 1,628| 56 ) LEREERE
= [REB H— 5 ETRE 1.444| 74 ) A

£ N =X B BE 1,381.781| 65 2] ¥ 3

£ 1BHE EF 8 BiR 1,298 43 ) E3 0

£ B+ &5 5 3 1,245 47 %) SifzN:E4=]

£ EHE x5 8 | BR#ER 1,241| 69 2] BERE

= RE BAX B BE 1,035 61 37 BEX(BEHEEF)
£ FH i 5 BiR 1,019.365| 61 2] BEX

= R —IE 8 ®\RE 998| 58 27 BREA

= SATEF R 3 'R 969 64 2] [SES

£ M R 5 BiTR 965| 46 27 EERE(KI)

£ ER 15 5 ®miTE 944| 65 ) MERER

= (1TF g 8 EBR 940 61 # 37

£ BE &H 5 ®mTE 937 51 23] 2K E

£ f&ff 1E L2 BiTR 758 68 ) BEX Yy ASREKR5E)
£ NIF 4 8 ®mE 737.218| 53 7T BEX(ERZI)
= Ik #X 8 ®\RE 718 72 23] THEL

£ A EE 3 ®E 701 75 2] BX

= FH FH L2 ®AE 690.634| 67 27 =SHEE

= e BE B BATE 684| 58 L] E- a1

e Ex= B ®BE 648 65 27 HASTY




